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English in Car & English on Mobile Level 3 (IELTS Score 7)

o3le e o & god alo>
S )gmwd
A
band R e He abandoned his old car
abandon IS Al g | i aig cpile Wl
: His abnormality is obvious
. 13 \ - X z
abnormality I ornb e | A ol ST T ) 50 ot i
] He has an abominable
abominable Omloai | Ciea | character
2,00 aal 4 Jladd G o)
Abstract art is hard to
abstract e | understand
a2 S S gl g o) 30l e
Sl
accelerate il (gala & Jui Don’t accelerate in a narrow
BB street 5o lid oL Lba
Bank Maskan
sl ol (S . | accommodates people
accommodate s J=d on Ada inlem | 2 yn (Sase Sl
Y
B e (35 0] yar .| I'llaccompany you there
accompan Jad A .~ .
pany S A S pal A ) pes il 5 (e
tabl Js . You'll be held accountable
accountable e | Qdua 25 ) s 41805 gsa Led
] He has accumulated a lot of
accumulate PR sosh S dxd | wealth
k_lu\ad‘)jid‘)s‘;l\j\)ﬂuj‘)zdfu‘
_ o 4 el . H.e e_lcquwed knowledge all
acquire g = | hislife
i S S R )y i pee dad 2y
€ s el s . A_dap’g yourself to the new
adapt .| J= | situation
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English in Car & English on Mobile Level 3 (IELTS Score 7)

%

. A add
o (s ..
7 § )5
A
abandon AL 5 e He abandoned his old car
9
abnormality Sogr b | His abnormality is obvious
) He has an abominable
abominable Omlan | Cda | character
Abstract art is hard to
abstract <8 | i | understand
il (pala & 4 Don’t accelerate in a narrow
i y . J=d
accelerate £ street
, Bank Maskan
(ool (S8 .
accommodate ““ s J=8 | accommodates people
¢35 o) ap , I'll accompany you there
accompan J=d
pany RS (A ea
accountable J4 » You’'ll be held accountable
He has accumulated a lot of
accumulate LA o S| dd | wealth
ot A ey Canes He acquired knowledge all
acquire ' u 4 J=¢ | his life
. . Adapt yourself to the new
Syl ¢ ala . ) )
adapt I ji‘j J=8 | sjtuation
adequate oS | e Your explanation is not

adequate
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4l s S

The house adjacent to ours

adjacent s is vacant
Color adjustment on this TV
adjustment callhe | aul | s automatic
- , . He has an administrative job
administrative o Cia
n(n . , | adore science
adore GRED Cwugd | Jad
- His advocate spoke on his
. - QA . O .
advocate S S < | behalf
BEBN
. He has strong affections
affection ol | ol g
Iy : Cold aggravates his disease
aggravate OIS BN Jad 99
|
So4a «Seea| o | The aggregate is computed
aggregate LS: (Cidia ggreg P
) d‘j
) He has an aggressive
aggressive S s | Caa | attitude
He is a good man, albeit
albeit a& yle aa A a8 poor
. ) € <wa | All aliens must have visas
alien Axd Ay £ Ay ‘(w\
| allocated some money to
allocate G pabaial | Jad | the poor
US and China are strong
ally Oy skl | Al T allies
¢ ¢ He altered his pants to fit
: Dyl yuad . )
alter DR 0 J= | him
BEBN
, . .z| «ua | We have no other alternative
alternative AT 3 ) ga Ay N W
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4. 1| «<aa | He is an amateur guitarist
amateur DS o3l sl W g
: S : His comment was
3 = -
ambiguous PURV TN Gt O ambiguous
jazd (A S Q) : | can’t amend the situation
amend 0% - =
A
He has ample friends to help
ample S8 pm | CGaa | him
G 93 s This analogy is easy to
analogy RS “'Ma& ~! | make
. I He has an analytic approach
analytic ATIEN R QIO yHie app
He prefers to work in
anonymity =il | aul o Fanonymity
. L : | anticipated his next move
anticipate DS G| Jad P
. : : This is not an appropriate
B ™ - g
appropriate el s | e Havior
Approximately 2/3" of his
approximately lagaa ¢4y S A8 money is gone
o He made an arbitrary
. | 9= -
arbitrary Sl | S2= | comment
articulate W A | He articulated his comment
. so well
articulate OGS Al qials | a8
He asserted a strong
A RPN gEY .
assert JeBl e JSU\ J=t | comment
(Rl
35T g e e He can assess the damage
assess i J=s | to the car
BB
: (O papads .| The manager assigns the
assign OIS e adphag duties
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| assumed he wasn’t home

assume GRS Uad | Jad
assure oyl Jnd | assured him of his safety
attain gl i You have to attain success
attitude A el (w\ His attitude is realistic
attribute Sks|  a | He has good attributes
attribute Gl i | Jad
) The machine receives
auditory el | Caa | auditory input
B
e She is still baffled about the
baffled 0 ) i g | hews
ban DS & sian| Jab cand Public smoking is banned
bargain syada| e Women bargain a lot
He is a barrier to my
barrier k|~ | success
behalf Sk (s pm i I’'m here on his behalf
. He has no bias in his
bias cuani| T |judgment
a
bolt 2 coseh | Jub cand The table is bolted to the
floor
) ~ . They hav rofoun n
bond Ssm o £ | b iaud ey have a profound bond
Year 1970 was a boom in
boom U Gl 81| and (J=d | car industry
(OIS o8 . | Give me a boost to climb the
¢
boost e e
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| love bubbly drinks

bubbly DR Glhcla | G
bulain 5 aS0| «ia | His profit margin is bulging
ging EEISTRR
bulk sl Ol Al6Ch | Jab cand Bulk food is always cheaper
C
_ oy £ i e - His pr_e5|dent|al campaign is
campaign TR J=é <aul | boOming
This writing had been carved
carve IS oS eS| Jad | in wood
catastrophic ol Anald | It was a catastrophic event
: : He visited Ali Sadr Cave
cave e | Jrd cal
Cease fire and hand over
cease S s gia | el «J28 | your guns!
challenge oy I’'m up for any challenge
chamber i | The Chamber of Commerce
e ™ |is here
A big chunk of his wealth is
chunk ASS (A | Jad el | oS
_ We have closed circuit TV
Circuit D]
Blood circulation in the body
circulation oS aa ol | aul | is important
Circumstances led me to
circumstances Lyl 5 dama | zex aul | that decision
| often cite Ferdowsi’s
cite L AJEJdE|  Jd | poems
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(5 e (g 5 e

Civil rights are important

civil e (Gt 1O
Persia is a very old
civilization O3 | Al civilization
) (S ) Can you clarify your point?
clarify CAOED | y fy your p
uJ\J @mf
c. . . | They had a verbal clash
clash S calad | ansd ¢Jad y
. «ua | | love classical music
classical st (SIS W
o) g alaa oyl R Clause has tense
clause i ) "
Ay
P Give me the code
code Say|
His decision is coherent with
coherent sl canasia | Qe [ OUIS
. . . 1Al . His birthday coincides with
coincide O oolEe | Jad . y
mine
Sl el A Communism collapsed in
collapse TOTETL da 1992
u.lm
) ¢ S o yaxii . Britain colonized India
colonize “ ,)S e Jad
Ou R (s
el ooad el X The seminar will commence
D) J J d’ﬁ
commence S NOW
. . His comment was
A5G )l calety) | Jad .
commeft > " | ambiguous
Ay o€ ¢ i \ He writes g_ood
commentary PR s commentaries
: At (O dgxia . You must commit to your
J=d )
commit OIS wife
Qil is an expensive
commodity A VS| aul | commodity
common sense SBaa j5b | Al Common sense tells me this




He Is a communist

communist CustisaS | aul
It is not compatible with
compatible o] caa | Windows XP
| must compensate for my
compensate A0 J=é | losses
) He has compiled these
compile RS eosh S| ded | poems
Her shoes complement her
complement JeSa | aul ¢J2d | dress
. This is a complex problem
complex sy | Ciua
He compliments her on her
compliment A5t | sl (J28 | Shoes
This is an engine component
component B
" He is good in composition
composition Ll Qliala | aul J P
52 S sdan U= .
compound DS o The problem is compounded
> ‘e.ul\
compound sdam Bl
LWa
This is a comprehensive
comprehensive &l | Caa | dictionary
. 3 Y e Jald .| This book comprises 3
comprise HF IO e . P
BB sections
What do you conceive of his
conceive RAS3| Jad | behavior?
: - | lost my concentration
concentration Ko el y
concept a5t | aul | This concept is hard to




understand

Let’s conclude today’s

(S R Aagis . .
conclude ) .| J=@ |session
QRS el
Concurrent engineering is a
concurrent Gleed | Gda | new science
conduct (OIS Syl i Metals conduct electricity
conduct IS (il
3 € Laae] This degree is conferred
fer 08 o) J=2 | upon you
con s s
GRS u..&....:\:'
He has confined himself to
confine e Sassa| Jed | his office
: . ' His ticket is confirmed
confirm (S i | Jad
conflict S iii| Al | There is a conflict of
_ A | interests here
conflict QoS Kaa | Jad
p | cannot conform to their
(RS Sl ,
conform TS e J=& | standards
JELMEEY . | We confronted him seriousl
confront R y
OIS ) A
His conscience is in the
conscience Gokd g | sl | clear now
The parents gave their
consent s A «ulia )y | sl ¢ J28 | cOnsent
What is the consequence of
consequence Ly aul | their action?
BaSle ¢3S Jaia He conserved on the use of
conserve ey water

BEBN
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It is consistent with the rest

: paaia ¢l giul : , :
consistent ‘ ©°L | wia | of his claims
&
il 5] e S Al We tried to console the
¢ | ;
console | «J=4 | bereaver
. She constantly nags
constantly o)l sab (o Sy | 28 yhag
They constituted the US in
constitute Gidlu (a S| Jx8 | the 16™ century
Get rid of your mental
constraint &L |~ | constraints
. . . constructive criticism is good
constructive odijlu | D
He gives consultation to
consultation ol eslie | aul | cOmpanies
We consume a lot of energy
consume RS G pas|  Jaé | per day
contempora edad ¢ alan | Contemporary art is
porary © N important
The context of a sentence
context biaa|  aul | makes it clear
(S Ladia
contract o3y (M pmiia | J28 | He contracted his muscles
O
contract Al B el
He made contradictory
contradictory o=iliis | Sdea | remarks
t o eailite | o 'Sl'gilj gsacr:lci)grtrary to what you
ntr z .
contrary PR
contrast Gl alaat ot | Jad el | Contrast of colors is great on
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this TV

Many factors contributed to

) D oy ke ) )
contribute SR 3 | his success
S
, LEu . This is a controversial issue
controversial BN SRLIENY it
] For your convenience, the
convenience o) ulul | <ia | store is open 24/7
Conventional music must be
conventional i | Cua | preserved
Conversely, | think you are
conversely oSe x| @ wrong
RS g8 R ,
convert w0 S dasi | Jea | Can you convert the file
O ol format?
convert Ui K|
JWE) ¢aly Jan) He cannot convey his
convey G daenl pala | dd | meaning
QIS
. | couldn’t convince him to go
. Ay o 8 . .
convince SRS | ith me
BEBY
. | Will you cooperate with me?
cooperate QIS 8w | Jad y P
coordinate ;RS Sala | Jx | Pianists can coordinate their
_ i Cale | ox hands
coordinate il |
s o
. . | cannot cope with this
K jla ¢yala . ) )
cope Jmm fﬁaf J=8 | situation
O
. | love the core of this fruit
core QNN vy
corporate S lie IS H4 | Caa | Corporate deception is




common nowadays

costume

S 5

He is wearing a clown

2 e costume
. He has strong courage
courage s oY | Al
(Cawd i caidla ) This ashtray is well crafted
craft > il J2d canl y
u.&;
What are your criteria for
criteria o) 14 Jone i marriage’Py
(criterion '
This year’s crops are better
crop J pana sl
i . . This is a crucial matter
crucial Sha | Cida
i | «aa | Crude oil is cheaper
crude AENEENY | P
(‘a-ul
. . . This cookie crumbles fast
crumble GRSl (b A | Jad
He crushed the aluminum
crush GRS A | aul (J2é | foll
. W % . He cuddled his son warml
cuddle g R el | Jad y
Jsda ¢ S dgana . | He tried to curb her activities
3 \
curb T (J=d
The currency of Iran is Rial
currency = Js sl
Water cycle can be very
cycle Ax| e~ Jlong
D
The Internet database is not
database WoadlaoSal | sl secure
¢ i Al odasg . | Abortion is a hot debate
o | o Jnd
debate RS ey | T nowadays
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2 decades ago we had no

decade 23| | cellphones
. (OB ¢3S 2 . | He declined our request
decline L gl il ¢Jad
He dedicated himself to hard
. (0 Labaial .
dedicate i J=8 | work
This is the strategy |
deduce G SzUna | Ja8 | deduced
e They all signed a deed of
deed a0y - aal | trust
CsA
definite - iy Nothing is definite yet
deliberate sxe | <wa | This was a deliberate act
deliberate GAS Jai | Jad
He demonstrated a lot of
demonstrate G glas | Jsd | courage
. .. The information is denoted
denote e ok J=8 | clearly
BEBY
} There is a dent in the back
dent G bS5 8| aul | of the car
deny S| Jab | deny all these allegations
(o S s .| He is depressed
depress oS 0yl Jad
Food deprivation is common
deprivation G Sasaa|  aul o |in Africa
(S Cutla | could derive nothing from
derive S Ll J=8 | his speech
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)US cdﬁi\.ﬁj\)).l

They deserted their only

desert il J=8 | child
JBEEN )
Despite the setback, we
despite o | a8 proceed
| detected a flaw in the
detect IS Slili | Jsd | program
o : Vegetables deteriorate
. 03 g 8 ¢(jAL ) A .
deterior L dad retty f
orate 51 pretty fast
Sl oS Gl | e After the dismissal, he was
devastate S| e devastated
Deviation from the norm is
deviation el a3l sl | penalized
. : He devoted himself to
Q8 g ¢y L) .
devote s & J=¢ | research
BEBN
, He dictated the letter to his
) (GRS Al )
| " J=8 | clerk
dictate e s
Can you differentiate
differentiate G pad | Jad | between the twins?
Space is said to have 4
dimension mi@un| .l | dimensions
TR I . — .
diminish U (9 u..oii i His illness diminished rapidly
discard Al g | e He discarded that strategy
o Cemi ) AL ) . | He is very disciplined
discipline Lol cCinni ) ¢t
discreet | Please be discrete in your

manners




Cuazd (Al

He discriminated against us

discriminate ax) J=d
O )
. . . | He disguised himself as me
disquise G o e il | el ((Jad 9
o TR B Your sister is disillusioned
disillusioned 2l 2l | Qi
: G 4 . | Dispel negative thoughts
dispel S S ¢ s J=d
. BIETSMARTRENg) , My car has been displaced
displace € S s J=d
. . .1 di f the trash
dispose i e | e disposed of the tras
They disputed over how to
dispute G S Gillis | sl «Jad | travel there
dissolve O s cpdda | e Salt is dissolved in water
Can you make a distinction
distinction ol | sl | between them?

. R, , He distor rr ion
distort ST T e distorted your reputatio
. , b c. | I me disturbing new
disturbing 228 (4l B ud:é got some disturbing news

. " . : He can dive headfirst
dive G A pad | Jad ool
The US has a diverse
diverse gsile| Cuwa | population
. . This is the domain of my
4 J .
domain | activity
/ Domestic animals include
domestic sl Jdsa| aa | chickens
He proved his dominance
dominance ade « Spa| ~dl | over the family
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He donated a lot of money

donate GAS Wl sy | Jxé | to charity
. They drafted the 1%
Tud g g cdany . )
draft TESOE TN <> | resolution
OIS (oo ¢ Uy
Cay | study drama
drama alidylad | ol y
(T This is a dreadful experience
dreadful ool f| Qa
He drifts around doing
drift R ds e by | dadaul | nothing
- . .J.:;; - . .
drown OF O SF T 4s | He drowned
A
| was dubious about whether
dubious SE | i | to trust him
. : i ol | Welcome to my humble
4lA . )
dwelling Poe ¢ Qs | dwelling
: Gl sl (Spalin He studies fluid dynamics
dynamics s Py
E
) . . | Be at ease soldiers
ease GRabe Gl | sl ¢Jad
elaborate ‘325305 1| “éa | Can you elaborate on that?
elaborate G muagh | Jad
| 31 3 S AT " ::r)anlchs elected Mr Rohani
elect a8 e resident
) . » This is an electronic gadget
electronic S| Cda gadyg
The machine can elevate it
elevate G YL e S il Jad 100 meters
We must eliminate all
eliminate GRS sl J=& | threats
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Ultimately he emerged

emerge oMl Ossm | dad | successful
: . | put emphasis on it
emphasis N P P
Empirical observation is a
empirical sl e | Cia | scientific approach
This enables you to do that
enable Ggalu Ul Jad | job
v aal | encountered difficulties on
encounter M uﬁ aul «Jxd | my way
TR B He is endowed with talent
endowed pad il | Cidua
| : Police enforces law
enforce Gl d o S Jleel | Jad
Can you enhance that
enhance P A J=8 | image?
‘. . He drives an enormous truck
enormous Sk | b
3 .| | cannot ensure your safet
ensure O (fedaa | Jad y y
He praises them with such
enthusiasm ) 4a8Ble (sl | aul | enthusiasm
Can you envisage a
envisage R sai|  Jd2é | situation like this?
. . 6 Flu can become an epidemic
epidemic DS Gl | Al
| cannot equate the two
equate LS N dad | figures
. <l |1 10,000 Rials is equivalent of
equivalent Qe | T 9
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This is the era of info-tech

era L;‘L‘“J 693 ?’“‘\
it ay , Rock erodes very slowl
erode G Gl 8| Jad y y
(s a3 s People hold him in high
esteem = A Py esteem
/ Code of ethics is crucial to
ethics Sl aul | experiments
There were different ethnic
ethnic @3 Gaa | groups
My evaluation of the report
evaluation s=ox| el IS positive
T . Eventually we all die
eventually Alw| a8
) There is good evidence that
evidence o R «S x| Jadcanl | he did it
: o : It is evident that he did i
evident Jsal| ¢ tis evident that he did it
e This evil act is done by
evil (i | |terrorists
e-ul
The cell evolved into a
evolve G8b Jsa | Jsd | creature
He exaggerates a lot about
exaggerate G S @l Jx8 | his success
o : Don’t exceed the speed limit
exceed Gy S8 P
e : He was excluded from the
exclude O3S ile | ad trip
executive ol | «aa || just received an executive

96




order

]

Car exhibition will open
exhibition Bigai|  aul | tomorrow

Expansion of science in all
expansion giS | .l [ fields is good

His personal expenditure is
expenditure A A p) being checked

N sl s | !‘lIS appr.oach to the problem
explicit T Qaa | s explicit
=)

The British exploited the
exploit GRS Jlexiul | anl «J2d | Indians

| like to explore unknown
explore QoS S| Jx8 | territories

PN 2 : He is ex he vir
expose cs)nua)u‘jg e e is exposed to the virus
u.\.u:

Can you extract the iron
extract GMES Geom | J22 | from the ore?

Einstein had extraordinary
extraordinary Sl | caa | intelligence

F

fabric ETORNTY R Cotton is a good fabric
facilitate il o | e Money can facilitate success

This journal’s impact factor
factor Jale |~ |is high

2l L oy ) i i
fade 2l b aS eS e The video shot fades in and
Qs out
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His picture is in the hall of

fame Gedelgl | Al | fame
. : A trip to Kish is a fantastic
L ¢ Jle = .
fantastic sy o e
She has such a fascinating
fascinating | aa | personality!
Doing it in a short time is not
feasible M| Cua | feasible
S 1) il Abortion is not a federal
federal s ; 1| <i= | policy
Automobile federation
federation OsloM | aul | organized the event
.. | got positive feedback from
L \
feedback SBENG  EE them
fertility o | Ao She works at a fertility clinic
Fiber optic is advanced
fiber USsy sy |~ [ technology
fictional i a | e This story is fictional
fierce S| He had a fierce attitude
fin oAl i | Jub e Fish fin is not edible
We have some financial
financial | <aa | problems
finite JETPURN T e There is a finite set of rules
flexibility oy Gllanil | o The boss shows no flexibility




\) B'S) codj&)?

Let’s flip a coin on this

flip LS s YU | sl «Jad | matter
O S A

After graduation, he
flourish QMWL Jdx8 | flourished
fluctuate R s | e 1I:iDr(;I(Iaar price fluctuates all the
former - , | The former world champion

= s here

The forthcoming meeting is

forthcoming 5o Uy | Caa | On poverty
(OS85 Her uncle fostered the
foster (RS (S | aul ¢ J28 | Orphan
RS Sy

found R | e He founded this institute

Child foundation is
foundation Oslaigsiia| aul |l Organizing a drive

We have determined the
framework oiale « &) sl | project framework

b o858 Frustration can lead to

frustration el ~l | suicide
e , 5 Ol 4 \ F)ljlflllrrinint Is a rewarding
ulfillmen S| experience

He is functioning as
function a5 e | sl ¢J28 | manager here
fundamental oy el | This is a fundamental issue

Its funding comes from Bank
funding SIS ala i | Jad ol | Sepah
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Furthermore, you must do

furthermore G weas8 | a8 | this
G
. R . | He has a gambling problem
gambling ot | and (Jad 9 gp
- |dentify the gender of this rat
gender Cupin | fy the g
This is a new generation of
generation Jwi|  aul |young people
) | sell Hyundai’'s genuine
genuine Jal | i | parts
, . e . He is a giant mathematician
giant st « B au g
¢ . . Iran is the land of glor
glory o essa| Jory
U e () g This seedling is grafted to
graft i i o\.\g aul «Jad | that tree
, | From cradle to grave seek
w R 7 | knowledge
grave S ¢ S
oy San| . Go down that gravelly road
w i 2. a
gravelly i
He is greasing the boss’s
grease S o cpm S| el «(Jad | palm
: . : I’'m grinding the lamb meat
grind PAER | b 9 g
: (R S ol . | My nose is gripped
: D | oJad
grip ga |
He grumbles about
grumble PSad&| =i | everything
H
halt 4 gia «jiih 455 | J=d el | The project is halted for a
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GRS while

He spoke so harshly to

harshly Cigpdd b i | Cda | everyone
: They harvested the crops
harvest GO 5,8 | Jad e y P
Stop hassling me about
hassle a3 (S | sl ¢J=8 | washing that
s iy This is a hazardous situation
hazardous Slpba | Ciia

You are fired; hence, you
hence G| a8 are jobless

The hierarchy of power in
hierarchy <l walule | aul | the firm is obvious

He only hinted at the
hint (shana A3 o YUl | Al <2 | sOlUtiON

Blood hormones are

hormone 0o | e~ | secreted in glands
. . he traffic is horrendous

horrendous SULEAY ¢l | Cdia T

He has a good sense of
humor sl | J=éaul | humor

What is the hypothesis in
hypothesis 4unjd|  aul | this thesis?

I

) . : These two are identical
identical Sl B P NOR
) . | don’t accept his ideolo
ideology J5d ok ol | and P gy
illustration Q€ peai|  Jxd | The book is full of
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illustrations

| got the image of what he

image x| sl was saying

His immunity system is
immunity Coial ¢eldr | aul -l strong

This journal has high impact
impact 88 .| factor
_ (2 S ) al , '
implement e )S.)a e | can implement my plans

A

There is no implication in
implication a sz | sl | what you said

He nodded yes as a sign of
implicit Sl (Olen | <ia | implicit acceptance

He didn’t openly say it; he
imply GyalS | Jad | implied it

UN imposed new sanctions
impose IS dwai| J2d | on Cuba

OIS il His car was impounded by
impound Sl (5058 | aul «Jad | the police
S5 s 5 1A

: : Lz, Bon Ilves them incentiv
incentive o380 | onus gives the centive

Nobody had seen this
incidence JxY e |~ |incidence of rain

He has inner inclination
inclination gl (|~ | toward her
. )l S Jdal .| Can you incorporate it in
Incorporate O S > your daily routine?
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incorporate 2| Cha

index o | Jeb e Check the book index

. . Smile is an indication of
ol \

indication s consent

He is indiscriminate on that
indiscriminate Cuard G0 | Cwa | matter
induce S g i He was induced to do that

Don’t indulge yourself in that
indulge QM Gue S| Jd= | job
inevitable Al sl | o Death is inevitable

This is what | inferred from
infer OIS gl | J=8 | his speech

Can you inflate the
inflate OGS ab Jad balloons?

The infrastructure of the
infrastructure Al )|~ | company is faulty
infrequently s oy . He flies there infrequently
: . What are the ingredients of

Iy ea 4l gl 2 \ :
ingredient Slosd adg) dlsa | an Dizza?
, : Monkeys have inhabited this
Sad 1A s Sla i
inhabit O um;’s J | area
=

This attribute is inherent in
inherent s il | Qi | him

He inherited a fortune from
inherit e dla|  Jdxd | his dad
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Low self-esteem can inhibit

inhibit CREl s atlagl | e | you
) Initially | started work as a
initially Jel e a8 | waiter
) The program will initiate
initiate ;S el Jd | tomorrow
) Innovation happens almost
innovation soss| e~ | daily in science
You can gain insight via
insight s S1| Al | knowledge
: . : | inspected him from head to
inspect S sl | b 08 P
inspirations can occur to
inspiration sl | sl | scientists
: . For instance, he left earl
instance abaal cigai|  anl y
Instinctive drives are
instinctive sxEe | <sa | controllable
: : It is integral to the firm’
integral e Ly | e successg ofhe S
integral N “ o
: : . Integration of companies is
e \
Integration pleal o good
. . el ) (S Sy His political integrity is clear
integrity S o P gy
‘5;\_\»1‘3:\4.: JEEETY
ad Intellectual understanding is
intellectual () saass, | important
CIA stands for Central
intelligence aledal (i | aul | intelligence Agency
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The intensity of the storm is

intensity oS8 ek | aul | diminishing
Colleagues interact very well
interact Guilh Jaai | Jad | here
The two cars are
interchangeable oasad 8| Caa | interchangeable
: . | can interpret
. Ole b dan i . .
interpr . J=8 | simultaneousl
terpret GRS el 03 S \
e There is a short interval
interval e Ol W between the acts
SRS EBE We intervened to get him
intervene Gllis e g | Jed | into rehab
QRS
I’'m not intimidated by their
intimidate Gule i Jd=8 | threats
] - This is an intriguing
intriguing sl &G i experience
Intrinsic motivation is the
intrinsic 50| Caa | best type of it
He is in charge of the
investigation R | el murder investigation
Let me invoke science here
invoke Ggiasal | Jad | for support
f e, Ironically I'm late though |
aail pSe . . ,
ironically S > a8 | said | wouldn’t
Q50 *
: . Your argument is irrelevant
irrelevant L) Cia

to my point
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| get irritated when the gym

irritate RS Gac | d2é s closed
: : Hospital isolation is
Al g3 sl :
isolation PRSI 0 | necessary for him
BEBY
: cliva ¢ JSda e cand | issued a direct order today
ISSue SHlae 2 S yla &
This is the last item on the
item BENT N Y e R
J
Can you justify your
justify GRS 4| Jd | position?
K
knot 5050 K o & | ek cad They finally tied the knot
L
S sOladl ) 23 Labor force is cheap in
labor DS @i QIS | d=d canl | China
A
Show me the layout of the
layout adsi Qlials | sl | building
| signed the lease
lease G Sl S| aul (J28 | agreement
Parliament is the body for
legislation )R sla| Al | legislation
] How do you spend your
leisure Ayl Byl Al | leisure?
lethal ozl | e This substance is lethal
levy (RS pa s Al | Jad caul | His estate is levied
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He is liable to all kinds of

liable uame 0| Caa | diseases
liberal a5 e He joined the liberal party
Jim: Happy New Year! Ben:
o () gea (b A . likewise!
. . 28
likewise shised b Lot
locate St | e | located the key under the
' book
logical L . | don’t have a logical answer
long for Luxmeso)t| ;| Helongs for along holiday
Odila
His loyalty to the country is
loyalty Gilaa il | sl | proved
M
: R W - The Earth has a magnetic
magnetic ol Cea field
Bain (il 453 The car must be maintained
maintain S J=8 | regularly
. . .| They manipul his work
manipulate OIS )8y | Jad ey manipulated his wo
Observe your manners in the
manner Jiso s | aul | mosque
The margin of error is
margin adlal (s S| sl | negligible
. . The mechanism is very
TN \ .
mechanism PO i simple
Qs ela 513 The media covered the story
media ey ~~ [ very well
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| wanna mediate between

mediate PSSl deé | them

He is a menace to the
menace Wl | anl «J2d | society’s welfare
mend S i | | mended the copy machine

Mercury is a liquid metal
mercury osx |
e A2l o S g " H;er t;/r\:o companies are

g S8 ging
. . He migrated to Canada

migrate QIS Coalge | Jad 9

Military action is the last
military | Gia | resort for them

The minority of people go
minority <ol | .l | there

| have a mission to
mission Cuysle| sl | accomplish

. : He mocks everybod
mock GRS 6 YA | Jad ‘e...n\ y y
Change the sound mode
mode i o | ol
Cqerl g | e He is very m

modest WA ool (i | cia | OIS VETY odest

Can you modify the
modify Gl yuad | Jsd | program?
monk | Monk is a starting priest

P He is moody and unreliable

moody Z)e edpd| i
mortal b oL (S| Qs | Man is a mortal creature




He motivated me to study

motivate ool | =i | harder
. . | | mounted the horse

mount QM )l g |l (=i

He got multiple bruises on
multiple 4“llais | i | his face

, . We are mutual friends

mutual Al | 2

His whereabouts remained a
mystery Suxp Ol el | mystery

N
: . He is a naive person
naive cAedlu| Giia P
: ™ This is my native land

native | Lea

Computer is a necessity
necessity Jw| sl | nowadays

. He gave me a negative
. .. (L . .
negative siie | Impression
e-ul
: . | remain neutral on this issue

neutral b o fa | Cda

He is a good man,
nevertheless aa S| ad | nevertheless he is stingy

He is a good man,
nonetheless 4> S| a8 | nonetheless he is stingy

Is regifting a norm?
norm Dbra | Al giting

The notion of elderly first is
notion sal | aul | ignored today
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Notwithstanding his

notwithstanding £osle| a8 | success, he is humble
. | He reads novels in his
novel wa oy 57 |leisure
nuclear ) 4 . Nuclear war is a disaster
. SR | Her nagging is a nuisance
nuisance Y pal ja e
)
. : <=l | | follow my objectives
objective s | O
b il ‘ «J=8 | This obscures my judgment
obscure Calu agme aga |
. il sl pas g Her obsession is devilish
|
obsession eadgs|
] | obtained some new
obtain Gl w | J=8 | evidence
The oddness of his behavior
oddness (s cuae | ol | surprised me
. The offender was brought to
1S 30 ¢ S@MA I
offender D58 ¢y s justice
freet Gl il ¢l | «J2d canl | This book is offset again
offse S o
Syl . _
. L . «x8 | The ship anchored offshore
offshore >R ‘éau“ .
Sk
There is an ongoing war
ongoing DLl Caa | here
1é . | They went in opposite
opposite Qe calmie| 7T | directions
opt k| e | can opt for a better choice
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The building is oriented

. (o
orient s | e southward
RN This is an ornamental object
ornamental SHH | Dea
) | He adopted 2 orphans
orphan At |
What is the outcome of that
4aahy | )
outcome s P oroject?
i NER STt , | I can outline the shape
outline o aada |
U The outlook of this project is
o so.l.u..\ colSJ:a.A ..
outlook N a~l | promising
D Q)
; : utput of the program is
output M G0 e pana | Jad aul Thedp prog
good
overall £y s . The overall performance is
DA S| e good
s .| I will overcome all problems
overcome G o |l ot
ol (g8 ¥ : r schedules overla
overlap OBe ¢ ) b asy Jab o Our sc P
Oy
W . | ¢l c28 | He works overseas
overseas Sap el |
P
This was a paradigm in his
paradigm cahe adadi | aul | career
e The highway runs parallel to
parallel S 5 , | the street
e-ul
This is a parameter in the
parameter sl sl | equation
The participants are served
participant puiS OS5 | aul I dinner
passionate sl | i | He had such a passionate




feeling

You were so passive at the

passive Cullad o cJgenn | Sda | gym
. . . He has a peculiar attitude
peculiar Cw e e | Qiia
) . He plays with his peers
peer 02y ad ¢ guac | ol
penalty | i\t(ou must pay the penalty for
perceive S S| e It's hard to perceive
Your share is 10 percent
percent La | Al
My perception of him is that
perception S| s | heis honest
perpetual JETPIN e This is a perpetual problem
la il oopailala , i
persist oot The problem persists
uJ.iLA
personality i i He has a good personality
o You must change your
perspective N perspective
This phase of the project is
phase asja|  aul | over
Earthquake is a natural
phenomenon sxu )| sl | phenomenon
Philosophy is the mother of
philosophy s | aul | all sciences
physical S S (Sus | I’'m so angry I'm getting

physical




He is the pioneer in space

pioneer Jldn | Al | exploration
(S Ll s | pleaded with him to let me
plead S8 s 5 J= | go
g . You've been poaching crabs
3 (] (C .
poach i :j j: .| d= | here
. R This snake is poisonous
poisonous GSIR5 | Gia
| have a new policy at the
policy Gwlis | anl | Office Nnow
ortion e L2 , | This portion of your share is
P SR T gone
. I’m posing for a portrait of
18 (g pSe |
portrait (e Dk «J=4 | mine
ortraval i | His portrayal of mine was
portray N ™ | great
wre aei £ e I’m posing for a portrait of
pose G ‘ffs:ji sl (J2d | mine
e He has the potential to be a
potential Sl " vet
Practitioners practice; they
practitioner | &Le |  aul | don’t preach
The preceding meeting was
preceding Osdy | <wa | about this
recise s | The computations are all
P i precise
. . , No one can predict the
predict GOS U | Jad P

future
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His ideas predominated the

predominate GMie s | Jad | sOciety
) e His preliminary speech was
preliminary Crolel el " interesting
o His insurance premium is
premium Aoy Jand cslhae " $100
We must preserve ancient
preserve B Skis | Jx | artifacts
; Presumably he comes from
presumably Lajd| a8 another planet
My primary concern now is
primary Ol Lal | Cda | my SON
: - X He is the prim
prime i oLl e is the prime suspect
Respect the principles of the
principle Os8| Caa | company
prioritize i pi | Jed | must prioritize my agenda
priority goes to those who
priority a3 | aul | came first
. . Our privacy is breached
privacy (AP 2 A e.m\
privilege el | He gave us extra privileges
proceed s ads | e Please proceed as planned
_ ‘ L35 Cle Sl . ' '
profile bt N o | studied the profile
(A5 pei 9 (Z e
prohibitive S ¢ glae | e | We must take prohibitive
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U‘JS ca.i\;\.ﬁ)'\_.\

measures

-

He is a prominent scientist

prominent Ao p | Gdea
He gave me the prompt to
prompt Gl | Jed ol | doO it
What is the proportion of
proportion Q| Al hydrogen to oxygen?
) What is the prospect of
prospect Gom el | aul investing in that?
. Prosperity is not happiness
prosperity Cusdga | ol penty PP
2 He protested to the new
protocol e aud protF())coI
28 55 Janll ) s
- p \ . This is a provisional license
provisional by e Boa|  Cidia
_ .| «ea | He pruned the trees
prune RS b e
- & : He publicized his ideas
publicize OIS G | Jad P
I'll pursue the matter in the
pursue G Jdwa| Jdd | supreme court
Q
W A : . This is a qualitative
qualitative &S| Cda approach
. : | filled out the questionnaire
questionnaire Al | sl g
He quoted the prophet’s
quote GpSJAJda| Jd | speech
R
. : . He h radical ideol
radical s ¢l e has a radical ideology
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He is a rambunctious kid

rambunctious Ghea s ia | Cidia
He had a random selection
random Sl | Cew | of subjects
range aily | e It ranges from O to 7
He was ranked 2" in the
rank 42| e~ evaluation
i 2 . He worked very rapid|
rapidly & A0 28 y rapialy
. . Theratiois3to 5
ratio i F 3| ol
i . ) That is a rational decision
rational sihie | Ciia
: He reacted well to that
i Jaadl uSe . ) B
react “ ] Jad criticism
Gl
i e A He has a digital receiver
receiver sai€ Cdly | g
| cannot recollect my
recollect IS reao by J=d | memory
2532 el oA 4 He is in the recovery room
recovery Ny K N y
el
) TS INECIRPIVE . | cannot rectify the situation
rectify ORI AR fy
uJ)S L_u.u‘)d
. TS INENRPYVE . Oil is refined here
refine S A J=d
(A S pSaia X Mirror reflects light
reflect 08 . Jad 9
A
Reformation of that
reformation cal|  ~ul | organization is started
Animals are protected in this
region adhia|  aul | region
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We have to regulate the

cOJJS e.Lu.q . .
regulate 08 s J=¢ | affairs here
He rehearses 3 times a
rehearse RS Gl | el o J28 | week
This can reinforce the
reinforce gale s Jd | strategy
Ll cpala s . | He was released from prison
release TERIEE T ) (e b
Gl
relevant Ly » Your comment is not
i relevant
. . . , He is relieved of dut
relieve gialalay | b y
His reluctance to help you is
reluctance Jlisie | aul | Obvious
L s n : | don’t rely on that old car
rely S e (oS J=b
The problem must be
remedy sl | J=d caul | remedied
e | SEmsoss | Shckers e many
reproduce 8 e [ ually
We gotta resolve this issue
resolve RS da|  Jxd | ASAP
Iran has a lot of natural
resource e | oul resources
: The response is positive
response cb N
- .| The old building is restored
restore QIS ol | Jad g
: 093 ¢S Jgdaa i They put a restraining order
restrain s 45 on him
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Access to this area is

restrict IS agma | Jad | restricted
. . . 2 |« «J28| He has a retail store
retail i g A 0 A ¥
| retained my dignity in that
retain Ggiilhasa | Jdx8 | conspiracy
L) ¢pala ol , He revealed her name
reveal e Jad
O
b3 (3 S (p Sxa The process can be
reverse S04 U8 ie | Cua | reversed
A
, ¢ - His survival was a revival
revival s obisd (S| Al
(RS Olada . :
. 1 : He revolted against his boss
revolt BUBTISSIU:ENgTY Rt 9
Son
There was a revolution in
revolution <l | .l | that country
The reward for the lost child
reward Gl | dad cand | s high
. The rhythm of his music is
rhythm Ay | ) yt
nice
. . . He is rigid in his manners
rigid G (DA | Qdea
On my route to Mashad, |
route o) el | passed it
o This is a simple routine
routine sy sy | surgery
. : . | Alcohol ruined his life
ruin QIS QA | Jad
rural sy | Gwa | Rural life is healthy
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He sacrificed his life for his

sacrifice NASLAE| d=8 | country
He shall meet salvation in
salvation ¢ %iu)|  asl | the other world
That’s another political
scandal )|~ | scandal
. . . That’s not how the scenario
scenario Qlaly g )l aul
goes
The scheme of his actions is
scheme i@ bl aul | unknown
The scope of his activities is
scope b | Al wide
He works in the private
sector Uil sl | sector
seek Gies | J2é | Seek success
L 8 S . Water was seeping out the
seep | J= |cracks
B
He is very sensitive to this
sensitive oles | Qda | SSUE
: The sequence runs from 1 to
sequence Ay | el 10
. The sergeant released the
sergeant G S| Al unit g
. - He bought a BMW 5 series
series A (S |l
His sheer support was
sheer QU pala | caa | admirable
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This shirt keeps shrinking

shrink ot o) ¢(Jad
significant Saia| His role is significant
s . [ ight?
simulate S s | e Can you simulate that flight
The two brothers arrived
simultaneously O s | Gia | simultaneously
| wish to visit the factory’s
site Bia | Al | site
en 1 The sketch artist drew the
Al ¢ ol .
sketch A ol ol a=l «J2d | suspect
&
Don’t sneak into class after
sneak QMo )y Sdlg | Jsd | the professor
He was sniffing like an
sniff wdgawms|  Jd« | addict
solely S e 4 b He did this solely
somewhat ) 4 € 4 o You are somewhat different
sophisticated YR e It's a sophisticated issue
¢y A 4% ) is it?
sort GRS (s e e Jnd What sort of book is it
. . | The idea sparked in my
¢ _
spark A8 | anal ¢(Jad mind
Human species is destroying
species wL|  as |theearth
. — 5
specify DS i Jni Can you specify my duties”
speculate sl | Ju | cannot speculate on that

matter
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Some UFOs look spherical

spherical BN | Cha
. : : That was a splendid
calla -
splendid Al | Gba performance
The answer occurred to me
spontaneously A A A 8 spontaneously
) Political stability is a
stability Q| aul | necessity
. aSd ¢l o2l . | He stained my reputation
stain S s sl ¢
stark i o | e These two are in stark
i contrast
Starvation is a real issue in
starvation wi S LX) Al | parts of Africa
} The statistics show a
statistics Dl sl | positive trend
What is the status of your
status Cuenag | aul | promotion?
/ Good food can simulate
Sl o cpasal .
stimulate TIOETE Ua | hunger
BEBY
We don’t have this item in
stock G e ¢ il | aul (Jad | the stock
. . That’s a straightforward
straightforward G| = cwer
The strategy seems to be
strategy @il caymly | Al | working
He is very strict in his
strict @ | Caa | manners
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He strives to survive

strive QIS | ad
e 5L g S HEK . | He stumbled on a rock
stumble eI '“.’S).S Jad
QJJP
OIS ORI ess | Who styles his hair?
|
Style Gl Gl b ‘o
) .o . He is subordinate to the
subordinate A ppy | Qaa b
0SS
The subsequent changes
subsequent sxlu | Caa | are inevitable
The government subsidizes
subsidize G aww e | aul | basic foods
Some chemical substances
substance sl |~ | are expensive
The successive chain of
successive P Gl Ay | Cuwa | command is long
The account doesn’t have
sufficient o e « AS | Cwa | sufficient funds
) X . | summarized the report
summarize S 4dA J=d P
. ) The court summoned him
summon CRli 8 Jlia 4 Jad
superb Ge ¢ jin| < | This is superb
: . . I’m superior to you
superior PR Cua
Consider it a supplement to
supplement =8 | el that
Survey | a4 |lsurveyed everybody at the
party
survey QS uo | J=d
survive Oaile o3 ) Jad He survived the avalanche
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He was suspended from

suspend QS Blae | Jad work
. Laia ((yidla 485 . | His service is sustained
sustain L 3] 0 S =i
. | 'm sweating bullets
sweat OIS 308 | aul cJad g
This is a symbol of
symbol Al | A | friendship
T
nC & : | can tackle my boss
tackle OGS Gilla 4| a8
.| «aa | Heis bad-tempered
temper A
: . . H with mporaril
temporarily e v e stays with us temporarily
c o ah e : We onl nder m
tender o2 3m catd et | o e only eat tender meat
2 ¢ . e 6 e - . - -
tense 03 (e J*-“ﬂ N This is a tense situation
L}u.\.l
This mistake terminates our
terminate G oy | Jd=8 | cooperation
terrifying Sl | e The scarecrow was terrifying
) Textile industry is
textile b aul | developing in Iran
, | didn’t get the theme of the
i) 2 g0 (Al \
theme QEuld & g g0 cad | a story
- His theory is well rt
theory Gosh| s theory is well supported
He n water ther
therapy S| e needs water therapy
He worked, thereby saving
thereby G| a8 | money for it
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Rose is a thorny flower

thorny DA b

| cannot forget the thrill of
thrill oo olad | aul | skydiving
thus S| | live; thus, | exist

Tide is a natural
tide %5 )»| e | phenomenon

Here’s a small token of
token g S| sl [ appreciation
tragic e | e That is a tragic event
transfer o2 dEsl | Js8 1| transferred some money
transfer | au

Heat can be transformed
transform ol Cwale Huad | Jed | into electricity

Be patient in this phase of
transition 228 il ey transition

Can you translate the
translate AN 4aa | Jad | documents?
transmit i i (S i He transmitted the signal

T .\ I dA; .

transport HAe )SOJ < Jd= | They transported the goods
transport A aul

Star trek is my favorite TV
trek O 8| sl | program

The trend of divorce is
trend ol S sy~ declining
trial =M BN sl | Trial and error are important




stages

1 ke e He triggered it all
trigger S Ao (S | Jad ol 99
G )
trim AALE (3 S (A e o I’'m busy trimming the trees
) ~
triple i | e This is a triple benefit
trivial A eS| Forget trivial issues
) He tucked the newspaper
tuck PR A SE| J=4 | under his shoulder
Ll - His annual turnover is close
turnover i :j: as'to $100 million
U
. | e His ultim i rich
ultimate e ::a s ultimate goal is to be ric
undergo S Asad| e He is undergoing a surgery
. «2ia | The underlying factors are
Lo <) 4l ..
underlying ISR s | important
No one undertakes this
undertake g Rexe 40|  Jai | responsibility
s i Uniformity is taught at
uniformity # "| s~ | elementary school
BT SIS
. East and west Germany
™ . . .
unify KON s were unified in 1990
BEBN
unique 4 : . He is unique in every way
) : This is an unprecedented
Al -
unprecedented e | S et
urban soel | <aa | Urban life is expensive




(053 20ed gu The rent doesn’t include
utility (G el Gl | Al utilities
SR
You can utilize the common
utilize GaS el | Jx8 | facilities
Vv
- ) . The validity of the pass is 6
Lic | ole |
validity Diel glay | hours
_ i A ' '
variable . e This problem has 2 variables
LWa
. : It varies throughout the year
vary A e | Jad 9 y
A vast majority of them
vast 3wl | Céa | support me
verbal | | got their verbal consent
Can you verify the account
verify PSSl d=8 | number?
. . =
version CLl i i Which version of Word is it~
| reached Mashad via
via oy 3| a8 | Ghoochan
viable Seaa | e That’s a viable decision
vice e €| He is the vice-president
The chicken and egg
vicious uh | Caa | question is a vicious cycle
He is vigorous with all the
vigorous sH| <aa | workout
violation o=di|  aa | Violation of human rights is




not accepted

Virtually nothing was stolen

virtually A4S ad
- . Visibility is low in fogs
visibility W O] y J
e | cannot visualize a good
visualize RS e I future for you
. . . His vital statistics are stable
vital s | Cda
(ol alda gl : | volunteered for it
volunteer b s BELITPW
W
| was wandering around the
wander R 4y | el «J28 | campus
a1 S This cell phone has a 2 year
- " . \
warranty oS L J2é aul | warranty
She knows how to weave a
weave Gi8 (L | Jd | carpet
: He receives welfare
welfare oy | Al
I’'m right whereas he is
whereas Salls 0| a8 | wrong
This is the invention
whereby JLbas gl ,nas| a8 | whereby he made a fortune
There is a widespread rumor
widespread 2SS | Cda | about you
o | He had a wobbly stagger
wobbly Oloss S sl Qi y stagy
. o . That was a worthwhile
worthwhile el )| Sba

experience
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d g ¢ J pana

| yielded to the car behind

) s
yield G el eoala Q8 el I me
Z
o . Tehran has traffic zones
zone adlaia | Jad cani
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